(@>-2a-3)x=a+1
(@a-3)a+1l)x=a+1
~.a=3°]H 7} ik




tolgt (T, x #i)
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i+ (1+i)x+1=09

o 1

HFAJ A

xofl Hgk

2.

(<i)-ix2 —i(1+i)x—i=0

24+ (1-i)x—i=0
(x=i)(x+1)

x# i9|B2 x

=0

-1




x O Tk o] AP A (m — 1)x2 - 2mx + (m+2) = 0°] TS

A=

N—=

]'%M mO| g 1w TS o2t & W, m+ o 9 & Aot
2t
| =
> ®E: 4

Fol 7 HHgAlo] o2 Ao BRE m £ 1 0|1, x O] A7t 2m
ojm=g

D

szQ—(m—l)(m—|—2):0

Ao, -m+2=0 . m=2

m—2 % EA0] et

¥ -4x+4=0,(x-2)2=0

x=2 (S a)

m+a=2+2=4




1) x<-1¢ o,
—x-1-x+2=x+4+3
2
o _ _Z E—“}d\_—
=2 (24)

i) —1<x<2d o,
x+1-x4+2=x+3
x=0

iii) x>2% u,
x+14+x-2=x+4+3
Cx=4




A 42 4 2043 = 0 o] HE Fob7] Ao} AAAFHOR
A (x+a)? = b8 ek ok, 45 a, b Hstel a- b O G2
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=
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4
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oHd =
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X +2x+3=05 &HAFAOZ 1 xH
(F*+2x+1)+2=0, (x+1)2=-2

La=1b=-

La-b=3




